Velume Quiz
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1. Find the volume,
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2. Find the volume of the composite space figure
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3. Students in Mrs. Spain’s physics class are building a rocket for a national competition. The main fuselage of
the rocket is a cylinder with a diameter of 4.3 inches and a height of 14.5 inches. The nosecone of the rocket is a
cone with a diameter of 4.3 inches, a height of 5.7 inches, and a slant height of approximately 6.1 inches as
shown below. What is the volume of the rocket?
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4. The picture below shows a cylindrical sleeve from its end.

Part A Write an expression that can be used to find the volume of the cylindrical sleeve (the shaded area).

Part B What is the volume of the sleeve if a = | inch, b = 2.5 inches, and the length of the sleeve, h = 5 inches?
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5. Concrete can be purchased by the cubic yard. How much will it cost to pour a slab 18 feet by 18 feet by 3
inches for a patio if the concrete costs $53.00 per cubic yard?
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